P hy S2 | " Ovoblem Seb #4

1 S oluhém

E,_..,i S % it sk g e

@‘fvﬂﬂ shm:ﬂﬂ ml)(l{-ou—? foﬂ pm {/J, 'f)fw[*o@a wle 5'.
@) \/3 w > and Yy A LY o

@.z—. D >dn | +3 104,
(D‘*gomv@ in Vs veprece

A "'i’i( M

. (M could Mﬂ'& W\—nwd U from Y‘SM
| P o VMM'LAO T wdl wee Dwvee  neteban)
Rec. il H—,a = R = 1)

i

T F (5 P 2V =P ) 1G]

“\"(J:,; Gt G5\ + 2 4l -;,(>) 4> 4~
(3Gt P2 LD QR
(3 G0 v R Gl ) G

i [P

5 = oG | -k kL - \x><u

e

1' : W%@N—M [Owjf— SW ravwed | /5 ‘z"




) Gev

{ IM I \N«,U df/% méu(-py »Aepr\esm#w@@if» PO
| e l*@ bw |

Seglra) 4=EE] SoElLs

<ss Fre %}5@ f-> “‘“’WL

= <S>=OS

L3> - ({U A ne))= Eve([% O;D

o
vi{' M’
F¢>

i l/}
\/
k....
g1

| Tf?
\/
O

| T
£

ar
é;
o




5(9%’%3

FOY‘ a S&C@ wheel ig o 5W I e

cr@ Hyd @ 1) e wll @wwya have

48}7 4§> =( %M Sice <§>‘<%J (\g}>
CWQ PO ~Fo~r QAJ\ meml%ofaf c}%a WM

' \/)a,pm,uj )na(;w uJ g cqp bea P.? 2

45 RE Tr(lg;‘ §w)w cas@ <g >
'i“Stﬂ@éxcf)(S > Jr-é"tm;ﬁ <S >>

[ For He Va-3 mxm

<é\h> = “%XCQS @

B e %2 miders




COV\S"OKQX‘ how «a 5‘{‘&"‘1’5"‘[(&1 meJ'wv-( M s 5-0% Sp'n-up lva z ﬂmfjl 5-078 S‘D'f'\-ur L[ﬂj X

6 = 2SI+ 4 O]

A) e pucity of 4 st =Tr ()
B= A + & MG+ F D] + & 1G]

T ()= 4 Gt = & Gabtd>+ R+ FkaldR S | Rk =2

——
1 1 5 2

' A1
m sk (s net o C"“"P%g mined Skt . Suh stdH hewe i minimum pmr"l'a = J ’—"7[_

'UJSLISVL/'{MWW v%a-qlsambw \anr+Aagnonz<rao-
Jugoncd wmakrix Lomls.  Eg. in K f2> sy P-z[ 42 7] - [ J
It is “[:quJ Fo}gr.'z-«/.” Ty shewa A SO-50 T Pt dren cﬂ\fﬂ,%
mixed wnbos b e e of S ocVegemd slts

Yo

6) Ne S'u,( Ke Q;rnUQC‘lW.S ow\a{ ci\s)mwﬁ.uqé ]6 We cen o({ajm,.({gg He madfiy  oa {iQW l)wg

|
] ) ‘ a A _ ‘3/4\ - ;\ Y
Cl\WAc lbﬁ.SJl‘_ Pa{jnomuao: o[g* ((3 - )\.ﬂ) = 0@(‘{' { y —\L-/\J: ?3'- ~/\‘) 4._; \/'\> — 7[6— :O

()

= N- A+$ 0 B Erguebaa Az = 3% = Lo = L(]+3)

3. @

anﬂVccotvf;f; [ :’T_Aij Bz] :0 =‘><%-Ai')°(-_r + gi' :O =B gi_':_ =_3’f42\‘4_-_'=—|i£r2

L
q

"/ormali’z‘a."‘iv\ }’(:tlz"\‘ViJ:F: { = [*ilz({"' [il ) = °(+ 1% (4} IQE) =1
=D | = m = Joigp (w7

l o 1
| B4 —J—%J;_?&(—l 1) =J2z5
2

= J2 + 3 -
® o= willy b’ > b= >l + 2 hoan

- N

Node: We will se lobr o much Smple sohikn, S =1(1+@E
@ = 4 G’% "“i S, = \\Blo'c/\ Ve e




